
 
 vy;yh tpdhf;fSf;Fk; tpilaspf;f 

1) tiutpay; gadu; ,ilKfj;ij nfhz;bUf;fhj gzpnray; Kiw ahJ? 

1. Windows Vista      2. Ubuntu       3. Windows XP            4. DOS 

2) gpur;rpid xd;iw jPu;g;gJ njhlu;gpy; jPu;T ntsp () vd;gjhy; fUjg;gLtJ ahJ? 

1. gpur;rpid xd;iw mjw;F ntspNa ,Ue;J jPu;f;f Kidjy; 

2. gpur;rpid xd;iw jPu;g;gjw;fhf ,Wjpahf njupT nra;ag;gLk; jPu;T. 

3. xU gpur;rpidia jPu;g;gjw;fhf gad;gLj;jf;$ba vy;yh jPu;TfSk; 

4. jPu;T fhzg;gl Kbahj gpur;rpid. 

3) “xU gpur;rpidia jPu;g;gjw;Fg; gpd;gw;w Ntz;ba xOq;F Kiwapy; mike;j 
gbKiwfs;” vd;gij Fwpg;gjw;Fupa kpfg; nghUj;jkhd gjk; gpd;tUtdtw;Ws; 
vJ? 
1. fl;likg;Gf; fl;Lg;ghL  

2. Nghypf;FwpKiw 

3. gha;r;rw; Nfhl;Lg;glk; 

4. newpKiw 

4) gha;r;rw; Nfhl;Lg;glj;jpy;                     vd;w FwpaPL Fwpg;gJ 

1. njhlf;fk; 

2. jPu;khdk; 

3. njhlu;G 

4. Kiwtopahf;fk; 

5) gha;r;rw; Nfhl;Lg;glk; njhlu;ghd gpd;tUk; $w;Wf;fspy; rupahdJ? 

1. gha;r;rw; Nfhl;Lg;glk; vj;jid Muk;gj;ijAk; nfhz;bUf;f KbAk; 

2. gha;r;rw; Nfhl;Lg;glj;jpy; xNunahU Kiwtopahf;fk; kl;LNk fhzg;gl 

KbAk; 

3. gha;r;rw; Nfhl;Lg;glk; vj;jid KbTfisAk; nfhz;bUf;fyhk; 

4. jpirfis nfhz;bUf;fhJ 

 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  I.C.T  

juk;: 11 
Mf;fk;: Mrpupia  B. mk;rpah Ngfk; 

Nf/ rhe;j kupahs; jkpo; kfh tpj;jpahyak; 

thuk;  - 3 



6) fPNo jug;gl;Ls;s gha;r;rw; Nfhl;Lg;glk; tFg;nghd;wpYs;s xt;nthU 
khztupdJk; clw;jpzpTr; Rl;bapidf; fzpg;gjw;FupajhFk;. ,jw;Fg; 
nghUj;jkhd Nghypf;FwpKiwia vOJf. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

stop 

Input height, weight 

i = i+1 

BMI= weight/(height)2 

i = 1 

i < total number of 

students 

Start 

Input total number of 

students 


